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Guess Paper – 2010
Class – X
Subject – Mathematics

Time: 180 min               
                                           



Marks: 80




SECTION A {10 marks}
1. Why the number 4n, where n is a natural number, cannot end with 0?
2. Find the quadratic polynomial whose sum and product of the zeroes are – 1 /2   and – 3 respectively. 
3. If  cos θ = 3/5,   evaluate  16 cot2 θ –  1  

4. Cards each marked with one of the numbers 4, 5, 6....20 are placed in a box. One card is drawn at random from the box. What is the probability of getting an even prime number?

5. Find the distance of the point  (–2,4)  from origin.
6.  If 4/5, 2a, 5 are in AP, find the value of a.
7. The diameter of a wheel is 84 cm. Find the number of revolutions it will make to cover 792 m.
8. A cylinder, a cone, and a hemisphere are of equal base and have the same height. What is the ratio of their volumes? 

9. Find the value of k, for which the following pair of linear equations has a unique solution.

            2x + ky = 3 and 6x + 2/3 y + 7 = 0.
10. The perimeters of two similar triangles NCA and LMN are 60cm and 48cm respectively. If 
       LM= 8cm, then what is the length of NC?
SECTION B {10 marks}
11. The vertices of a triangle are A(3,4), B(7,2) and C(– 2, – 5). Find the length of the median

through the vertex A.

12. From your pocket money, you save Rs1 on day 1, Rs2 on day 2, Rs3 on day 3 and so on. How

much money will you save in the month of April 2009?
13. Find the probability that a leap year selected at random, will contain 53 Wednesdays. 
OR

     Three coins are tossed simultaneously. Find the probability of getting at most one head.

14. If 
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, find the value of 
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           Evaluate: 
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15. Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of the larger circle which touches the smaller circle.





SECTION C {30 marks}
16. Using Euclid’s division algorithm, find the HCF of 56, 96 and 404.         OR
          
      Find the zeroes of the quadratic polynomial x2 – 5x – 6 and verify the relationship between the   

      zeroes and the coefficients.  
17. Find the values of a and b for which the following pair of linear equations has infinite number of solutions:    2x + 3y = 7; (a + b + 1)x + (a + 2b + 2)y = 4(a + b) + 1

18. Find the point P on the x-axis which is equidistant from the points A(5, 4) and B(–2, 3). Also find the area of ΔPAB.    OR
                  If the mid-point of the line joining the points (3, 4) and (k, 7) is (x, y) and satisfy the equation 
2x +  2y + 1 = 0, find the value of k.
19. Construct a circle whose radius is equal to 4cm. Let P be a point whose distance from its centre is    6 cm. Construct two tangents to it from P and measure their lengths.
20. Two tangents TP and TQ are drawn to a circle with centre ‘O’ from an external point T. Prove

      that ( PTQ = 2 ( OPQ
21. Find if the points A (–3, 0), B (1, –3) and C (4, 1) are vertices of an isosceles right triangle or not. 
22. Find the sum of all three digit numbers which leave the remainder 4 when divided by 5.
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23. In the fig. (A = 90(, AB = 21 cm, and AC = 28cm.AB, BC, and AC are diameters of the three semicircles. Find the area of the shaded region.

                                           OR
     23. PQRS is a square land of side 28 m .Two semi- circular grass covered portions are to be made on 

   
two of its opposite sides . How much area will be left uncovered?
24. Prove that     
[image: image4.wmf]sinA

cosA

sinA

-

cosA

A

sin

tanA

-

1

A

cos

2

+

=

-

 
25. In the fig XP:PY = XQ:QZ = 3 and ar (XYZ) = 32 cm2, find ar (PQZY)
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SECTION D {30 marks}
26. The following table shows the marks obtained by 100 students of class X. Find the mode   

	Marks
	Less than 10
	” 20
	” 30
	” 40
	” 50
	” 60
	” 70
	” 80

	No. of students
	7
	21
	34
	46
	66
	77
	92
	100


27. Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares of their corresponding sides. Using the above theorem prove that if the areas of two similar triangles are equal then they are congruent.
28. From the top and foot of a tower 40 m high, the angles of elevation of the top of a light house are found to be 30° and 60°. Find the height of the lighthouse and its distance from the tower.

29. A shuttle cock is of the shape of a frustum of a cone, which is mounted on a hemisphere as

 
given in the figure. The diameters of the frustum are 5cm and 2cm. and height of the whole

shuttle cock is 7cm. find the total surface area of the shuttle cock.          OR
Water is flowing at the rate of 5km/hr through a pipe of diameter 14 cm into a rectangular tank 25 m. long and 22m wide. Find the time in which the level of water in the tank will rise by 21cm. 

30. A two digit number is seven times the sum of its digits and also equals to 12 less than three times the product of its digits. Find the number.   OR
A plane left 30 minutes late than its scheduled time and in order to reach the destination 
1500 km away in time, it had to increase the speed by 250 km/h from the usual speed. Find its usual speed. 
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